<3 @> (rad)
o
=
(6)]

o
[N

o
N

...........

...........

.

T4

CET

HE 3N

o :
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

..........................

..........................

+

q

1

TPlpoT (PCA

3
Hheamiindf

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom

<op/p. > (%)

110 SoRREER B SR H § RER 8 R D AR [ SRCRERRERE SRERREELREED = 80 ------ THEE T 01 § EERREEEE ERCERERERE,
L : : : A L : :
60---- & e < 60F------ 1 R kR R R
C ) F : :
40F--1} R Vo A0F BT
7o) =t 1 1 7 U A O 20F----- EY FE e
oSO N 111 8 SO S USR0S S
=20F - T AT =20F -t EHHE g
—aof AR A e TR I {113 0 | RS S
—60f---- F N A E R EEELEEE —60f------ “ R kR R R LR
=8O+ | oA oo ~80F--+--
100: bbb oli 2 hily |! 1 |||||||! L o—lOO: L1 I nn
E : | H " L5E--- i
i e £ b i e E B
| : £ L
E . . E L |- E o
0.5p---- i o R 0.5F----- -3 .
2 dl 3 i

-+

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


